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Math 1_010, Exam #1, Fai l  2013

Math  1010,  Fa l l  2013

m,
ractions, not decimals) unless the problem starts with
und to a certain nurinber of decimal places. While you
annot give part ial cq"edit i f  the answer is wrong, but

s  each)

s l

= b

ents the instal lment pr ice, T represents the total  of

/oo (2 points)

(2 points)

N a m e

Instructions: Show all  work, Use exact answers (
dec imals,  or  un less you are speci f ica l ly  asked to r r
may be ab le  to  do  some prob lems in  your  head,  I
there is no work.

1, Solve the equat ion for the var iable. (3 poi
a .  3 R + 5 - R = 7

2 ( N + 1 ) = L +

2 N + }  =  l {
- Z  - L

In the formula I  == T * D, the let ter I  repr
instal lment paymr:nts and D represents
the  ins ta l lment  p r ice  is  S t  3 ,946.26  and the

LL

2 N = l 2 .
& )

1 3 ,  8 q  b . ?  6  =
-  l o r  b lA ,Zb

3.  How many meters  a re  in  one k i lometer?

4 .  How many dec i l i te rs  a re  in  one l i te r?

What is the most rr , .asonable est imate for

amount  o f  down pEyment .  F ind  the  down payment  in
.otal  of  instal lment payments is g10,673.26. (4 points)

lo,b7 . 2 b  + b
- lO, b?

" b
#  s  r?  3 .So D

Iheight of the Was
ce.) (2 points)200 cm? 200 mm? 200 km? (C i rc le  vour  ch

ington tonrr"n,@
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6. How many mil l igrams are in 0,432 kg? (a

131zrooo

7.  How many hours  a re  in  3 .4  years?  (4  po in

3.+ Y. &S&5s.
t;+

8. The freezing point of  mercury is approxi
degrees? (4 points)

r l \
* ( F - 3 2 ) =  c- l \  /

Pq(F- lz)  = -31 '+

9, There are 2.54 cm per l_ inch.
1,6 feet,  (5 points)

t 6 # , l}L i*(
- -  I

t*t

10. How many signi f icant digi ts are in the num

I

ely -39'C, What i

F ' a z
+ 3 2

nversion factor,  de
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&1,+6tl A-rs .

th is temperature in Fahrenheit

= - 4f',7
+32.

F -3E.e.o F

LSH

rmtne now many meters are in

zl. I +68 rn

l

4.010? (2 points
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11. Find the distance between $| in and 1,2

/ s ? - l ) f  = 3l'( in

b,  Supplementary

2Ao s6 /  o"

'tT.

3 r A
12.  F ind the midpoint  between 15 j in  and 12

L3. For each of the fol lowing angles, indicate
(2 points  each)
a. 78" y41Jl|-L

b. Lgo"

-t te!- =

14,  For  the angle 75 'g iven an angle which is :
a. Complementary

l s "

l0s"

15. Wri te the angle 20,6" in degree-minutes-

2o.b" ,
I 8o"

, 3 ? S rtJrHAo
7
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n, (4 points)

n, (4 points)

hether  the  ang le r ight, acute, obtuse or straight.

points each)

ds. Convert  the angle to radians. (8 points)
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16,  F ind  the  area  and per imeter  o f  the  shape

17.

L8 ,

P =  L | b + 3 ( + 2 - R . {  z  r t ( S t -

A = i3r)(r8), 3o6 .$r-

Find the area of the sector of a circ le i f
points)

A = t

Find the volume and surface area of the
(8 points)

L9, Wri te the fol lowing as percents, (2 points

("o"/"

. 3 ? r S

What is the sales tax on an i tem that costs

4 > * . o ? s  =  ' f  3 .  1

r=3 ft

a ,  0 ,6

b , 9  -
8 -

20, 2 i f  the tax rate is (3  po in ts )

below. (8 points)

28.4 ft

34 f t

radius is 6 meters

r z B  { (

Math 1010, Fal l  2013

nd the angle is 2rc/S radians. (4

F)(ef =

f i  * 22.L+

nder  i f  the radius i 3 feet,  and the height is 7 feet,

! = flrz s N c3)'(?) =

h + zTrr2- ES A =  2

2 r a) C?) + aTr Ca)' ?

'r-
yn

63rrcl

4zrr + lB Tr z ton j*

3?. S



McCall,  Betsy

21..  Byron Johnson took a pay cut of  5%.
salary? (4 points)

l a f  8 ,2o ,o  *  . qS

22. What is the conjugate percent of 2Z%? (2

4t"t
23. Suppose you have a cube with a certain si

you double the lerngth of the sides? (4

!= F3

= 8

24, Give 4 i tems that are measured in l i ters,  (4

Sod-"- Pdpz (AM\4-/

25,  A  s tudent  has  worked ou t  a  p rob lem us ing
and obtain the conrect solut ion. What pr

@*tfls}*w.,
h^l-l' s h$*Ld lal I;n-LJ

d^i*"\ wot suJo
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What  i s  h is  new annua las  earn in  S148,200 annua l ly .

/ 'to, ?clo

x .  What  happens

)

3 x *

3x
- 3

L

he fol lowing steps.Exp la in  the  er ro r  in  the  prob lem
y was used in ct ly? (5 points)

I = L 9
- 1

1 B
- 2  1
1 5

,Jg
5

6

shrr\A& [aL


